SOLUBILITY PRODUCT PRACTICE PROBLEMS

Solubility Practice Questions: Solution
1.

PbF,; <=>Pb%* + 2F~ C = n/v

2.15%10% 2.15x10° 4.3x10° C = 2.15x10-3 mol
1L

Ksp = [Pb?*][F7]> C = 2.15x10-3 mol/L
Ksp = (2.15%10%)(4.3x10°%)?

Ksp = 3.98x10®

5.

Ag2CO; <=>2Ag* + CO3 ~Ksp = 8.1x1072
2X X

Ksp = [Ag*]?[COs ]

8.1x1012= 4x°

x® = 2.0156x10"2

x =1.3x10"*

<. Molar solubility is 1.3x10*

8.

Trial Ksp = [Ca][SO4]

Trial Ksp = (0.0025)(0.03)

Trial Ksp = 7.5x10°Ksp = 2.4x10°

« Trial Qsp > Ksp

~ Precipitate will form

9.

Ksp = [Ag*]?[CrOs 2] Ag.CrOs =>2Ag* + CrOs*
Trial Ksp = (4.8x10)2(3.4x10*)

Trial Ksp = 7.83x10"

« Trial Qsp < Ksp

Anouser Keg
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